Vector Practice

1. Sketch the following 5 vectors on the axes:
A = 35 m [160o]


B = 70 m [0o]
C = 55 m [65o]


D = 100 m [95o]
E = 25 m [-27o]




2. Estimate where the resultant vector will be 
and draw it in using a different colour or
dotted line.


3. Calculate the sum of these vectors algebraically: 


Ax = 
Ay =

Bx = 
By = 

Cx = 
Cy =

Dx =
Dy =

Ex =
Ey =


add: ------------------------------------------------------------------------------------------------------


Rx =
Ry =

Find the magnitude (length) of R:
Find the angle of R


  R = (
tan ( =


( =

Check with your diagram above to make sure that your angle is correct (not off by 90o or 180o)

Write your final answer:  
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